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, the defendant in this case, has been charged with the crime of assault in the first degree.

To prove that the defendant committed this crime, the state must prove beyond a reasonable doubt each of the following elements:

(1) the defendant caused serious physical injury to another person; 

(2) the defendant caused the injury recklessly; and

(3)
the defendant caused the injury by repeated assaults using a dangerous instrument, even if each individual assault did not cause serious physical injury.   

USE NOTE

The following terms are defined in other instructions:

"dangerous instrument" – 11.81.900(b)

"physical injury" – 11.81.900(b)

"recklessly" – 11.81.900(a)

"serious physical injury" – 11.81.900(b)

This instruction may be modified if the defendant is charged under more than one theory of the offense. For sample language, see Pattern Instruction 28.35.030(a) (Driving While Intoxicated) and Pattern Instruction 11.41.110(a)(1) (Murder—Second Degree), which are both written for cases in which the defendant has been charged under multiple theories. Pattern Instruction 1.35E, which explains that the jury need not be unanimous as to which theory the state has proved, must be given whenever a defendant is charged under multiple theories.
